[image: image1.png]2.17 Two solid cylindrical rods are joined at B and loaded as shown.
Rod AB is made of steel (£ = 200 GPa) and rod BC of brass (E = 105 GPa).
Determine () the total deformation of the composite rod ABC, (b) the deflec:
tion of point B.
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[image: image3.png]2.18 For the composite rod of Prob. 2.17, determine (a) the load P for
which the total deformation of the rod is —0.2 mm, (b) the corresponding de-
flection of point B.
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[image: image5.png]221 For the steel truss (E = 200 GPa) and loading shown, determine
the deformations of the members AB and AD, knowing that their cross-sectional
areas are 2400 mm? and 1800 mm?, respectively.
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[image: image7.png]2.25 Each of the four vertical links connecting the two horizontal mem-
bers is made of aluminum (€ = 70 GPa) and has a uniform rectangular cross
section of 10 X 40 mm. For the loading shown, determine the deflection of
(a) point E, (b) point F, (c) point G.
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SOLUTION IS ON THE NEXT PAGE
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